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M.Com. (Second Semester)
EXAMINATION, May - June, 2022

Paper Seventh
Specialized Accounting

Time : Three Hours] [Maximum Marks:80

    

Note : Attempt all the sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)

 (1 mark each)

     

Note : Attempt all questions. Each question carries one mark.

 

Choose the correct answer.

P.T.O.
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1.        
 

(A) 

(B) 

(C) 

(D) 

Insurance Regulatory and Development Authority Act was
passed in the year-

(A) 1998

(B) 1999

(C) 2000

(D) 2002

2.     


(A)   

(B)  

(C)   

(D)   

In which schedule Reserve for unexpired risk is shown
in Balance - sheet?

(A) Schedule - 6, Reserve & surplus

(B) Schedule - 12, Advances and other Assets

(C) Schedule - 13, Current liabilities

(D) Schedule - 14, Provisions
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3.     

(A)     

(B) 

(C) 

(D) 

Premium on reinsurance ceded is deducted from.

(A) Premium for direct business

(B) Interest

(C) Discount

(D) Commission

4.     `     
``
 

(A) `

(B) `

(C) `

(D) `

Premium received during the year is ̀ 2,23250. The pre-
mium outstanding at the beginning and end were ̀ 15,250
and `23,250 respectively, then the amount of net pre-
mium will be-

(A) `2,61,750

(B) `231,250

(C) `2,15,250

(D) `1,84,750
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5.          


(A) 

(B) 

(C) 

(D) 

How many schedules are there in the latest form of final
accounts of Banking Company?

(A) 8

(B) 10

(C) 12

(D) 16

6. 
 

(A) %

(B) %

(C) %

(D) %

Provision created for assets doubtful above one year and
upto three year is___________

(A) 20%

(B) 30%

(C) 40%

(D) 50%
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7.       

(A) 10%

(B) 15%

(C) 20%

(D) 30%

Provision for sub-standard assets is the percentage-

(A) 10%

(B) 15%

(C) 20%

(D) 30%

8. 


(A) 10%

(B) 15%

(C) 20%

(D) 25%

What is the rate of statutory Reserve under section 17 of
Banking Companies Act?

(A) 10%

(B) 15%

(C) 20%

(D) 25%

P.T.O.
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9.      

(A)       

(B)       

(C)       

(D)      

Under the double account system, preliminary expenses
is shown in:

(A) Debit side of the Revenue Account

(B) Credit side of the Revenue Account

(C) Debit side of Capital Account

(D) Debit side of Net Revenue Account

10.     

(A) 

(B)  

(C) 

(D)  

Interest on Bank loan is recorded in

(A) Revenue Account

(B) Capital Account

(C) Net Revenue Account

(D) Balance-Sheet
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11. 
 

(A)  

(B)   

(C)  

(D)   

Under the double account system, Depreciation of fixed
Assets is shown in:

(A) General Balance-Sheet

(B) Capital Account

(C) Net Revenue Account

(D) Income and Expenditure Account

12. 

(A)   = 

(B)   = 

(C)  += 

(D) + = 

The formula of Surplus-

(A) Minimum Rent - Royalty = Surplus

(B) Royalty - Minimum Rent = Surplus

(C) Minimum Rent + Royalty - Surplus

(D) Short working + Minimum Rent = Surplus

P.T.O.
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13.       
 

(A) 

(B) 

(C)    

(D)  

Royalty Reserve Account is opened in account books of
___________

(A) Lessee

(B) Lessor

(C) Both lessee and lessor

(D) None of these

14.       

(A) 

(B)  

(C) 

(D)   

Advance Royalty Account is also called_______

(A) Dead or fixed Rent

(B) Minimum Rent

(C) Nazrana

(D) Royalty Reserve
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15.        
 

(A)     

(B)     

(C)    

(D)     

Journal Entry made of irrecoverable shor tworkings in
the book of lessee -

(A) Bank A/C DR./to Advance Royalty A/C

(B) Advance Royalty A/C Dr./To Bank A/C

(C) Profit and Loss A/C Dr./To Advance Royalty A/C

(D) Advance Royalty A/C Dr./To Profit and Loss A/C

16.       

(A)  

(B)   

(C) 14

(D)   

Accounting for Investments is done as per -

(A) AS - 12

(B) AS - 13

(C) AS - 14

(D) AS - 15

P.T.O.

[10]

F - 107

17.         
 

(A)    

(B)      

(C)      

(D)      

At the end of financial year, the Journal entry will be made
for accrued Interest in the books of purchaser.

(A) Accrued Interest A/C Dr./To Profit and Loss A/C

(B) Profit & Loss A/C Dr./To Accrued Interest A/C

(C) Accrued Interest A/C Dr./To Interest A/C

(D) Interest A/C Dr./To Accrued Interest A/C

18. 

(A)  

(B)  

(C)  

(D)  

Interest rate or dividend is fixed:

(A) On Debentures

(B) On Government Bonds

(C) On preference shares

(D) On all of the above
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19.    =

(A) +  

(B) -  

(C) - 

(D) + +

In case of Ex - dividend purchase, the actual purchase
price of share =

(A) Purchase Price + expenses on Purchase

(B) Purchase Price - Expenses on Purchase

(C) (Purchase Price - Expenses on Purchase) - Divi-
dend declared but not received.

(D) Purchase Price + (expenses on purchase + Divi-
dend declared but not received)

20.   

(A) 

(B) 

(C)  

(D) 

Rebate on bills - discounted is:

(A) An Income

(B) Liability

(C) Accrued Income

(D) An Income received in advance
P.T.O.
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 

Section - B

  

(Very Short Answer Type Questions)

(2 marks each)




Note: Attempt all questions in 2 - 3 sentences. Each
question carries 2 marks.

1. 

What is meant by premium in general insurance company?

2.     

Give a proforma of schedule - 3 regarding commission.

3.      

Explain the Day-Book of Bank.

4.       

Discuss various types of credit provided by Banks.

5.       

Write the characteristics of Double Account system.
(Any two)

6. 

What is Nazrana?
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7. 

Distinguish between Royalty and Rent. (Any two)

8.     

Describe Ex-interest purchases.



Section - C

  

(Short Answer Type Questions)

(3 marks each)

           



Note: Attempt any eight questions from the following ten
question. Except numerical nature of question.
Each question is to be answered in about 75 words.
Each question carries 3 marks.

1. 

  `

  ` 

   ` 

   ` 

   ` 

P.T.O.
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From the following figures, you are required to calculate
the net amount of premium:

Premium Received during the year ` 150, 000

Premium outstanding at the end of the year. ` 20, 000

Premium outstanding at the end of ` 15, 000

previous year.

Premium on reinsurance accepted ` 10,000

Premium on reinsurance ceded ` 8000

2. 

What is a Catastrophe Reserve?

3.   `

   `

  ` 

    ` 43, 750

     

Interest earned `

Interest paid ` 1,00,000

Operating Expenses ` 20,000

Balance of previous years

Profit and Loss A/C ` 43,750

Calculate the amount of statutory reserve.
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4.    

Explain joint loan.

5.        

Clarify the meaning of reasonable return in electric-
Company.

6.          


What is the difference between General Account
System and Double Account System? (Any two)

7. 
  

            

      

    

From the following information you are required to calcu-
late amount of royalty for each year:

Year:   2016   2017  2018  2019  2020   2021

Production20,000 24,000 40,000 32,000 36,000 15,000

(In Tons) Rate of Royalty is 37.5 Paise per ton.

8.         


What is unrecouped short workings? Explain with examples.

9. 

Illustrate the meaning of 'Cum dividend'.

P.T.O.
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10.          `  %

`







On 1st January, 2020 Rajesh Purchased from Durgesh

100, 3% Govt. Debenture of ̀ 100 each @ `108 per De-

benture. Interest on these Debentures is payable on 1st

November and 1st May each year. Find out the amount

of purchase for Rajesh and the amount of sale for

Durgesh of these debentures if the dealings are Cum-

Interest.



Section - D

  

(Long Answer Type Questions)

 
         
  

Note: All questions are compulsory of this section. Ex-
cept numerical nature of questions, each ques-
tion is to be answered in about 150 words. Each
question carries 5 marks.



[17]

F - 107

1.    

          

`    

     ` 

      ` 

  ` 

 ` 

 ` 

    

The Revenue Account of Agrawal Fire Insurance Com-

pany shows the funds at the end of the year 31st March.

2021 at ̀ 9,75,600 before taking the following into account:

(A) Claims intimated but not admitted ` 13,100

(B) Bonus utilized in reduction of premium ` 1,300

(C) Interest accrued on securities ` 3,900

(D) Outstanding Premium ` 3,600

(E) Claims covered under reinsurance ` 5,400

Pass the necessary journal entries.

/OR

P.T.O.
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



    

What do you mean by 'Reserve for unexpired Risks'?

What provision should be made by General Insurance

Company in regard to unexpired risks at the end of each

financial year?

2.  



          

%



         

 

         



     

(ii)     

(ii)      

On 31st March 2021 Central Bank Ltd. had a balance of

`10 Crores in Rebate on Bills Discounted Account. Dur-

ing the year ended 31st March 2022, Central Bank Ltd.

discounted bills of exchange of `4,000 Crores charging
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interest at 18% per annum, the average period of dis-

count being for 73 days of these, bills of exchange of `

600 Crores were due for realisation from the acceptors/

customers after 31st March 2019. The average period

outstanding after 31st March 2019 being 36.5 days.

Central Bank Ltd. asks you to pass journal entries and

show the ledger accounts pertaining to:

(i) Discounting of Bills of exchange and

(ii) Rebate on Bills Discounted

OR)

 

     

Explain the Slip System of Bank Book - Keeping. De-

scribe in brief its working in a bank.

3.      

     

  

(i)        % 



(ii)    `

(iii) 

 
P.T.O.
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       

    



    

    

    





Dr. Agrawal wrote a book on mathematics and gave the

right of its printing and sale to SBPD, Agra on following

terms:

(i) Royalty 10% on the printed price of sold books.

(ii) Price of Printed book ̀ 60

(iii) Each year's royalty is paid on 30th April of the

following year.

Following account is given by SBPD to Dr. Agrawal.

Year Printed Book Specimen Damaged Closing

2019-20 1,600 200 10 200

2020-21 1000 300 20 150

2021-22 1500 400 20 180
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Open the necessary accounts in the books of SBPD,

Agra, The accounts of SBPD are closed on 31st March

each year.

OR)

      

      

Give necessary entries in the books of landlord and les-

see in connection with royalty.

4.  A B X  ` %

`

%



A B 

  

On 1st May, 2021 'A' purchased from 'B' 40, 6% deben-

tures of `100 each of X Ltd. at `110.50 Cum - dividend.

Interest is payable on 1st march and 1st September. Bro-

kerage @ 1% on transaction value of security was

charged from the purchaser and the seller, post these

transactions in the ledger of 'A' and 'B' for the year 2021-

22. Books are closed on 31st March.

OR)
P.T.O.
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  

 

What are Investment Accounts? Describe the methods

of maintaining investment accounts.


